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KS1 – 2016 Paper - Arithmetic (Second)
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KS1 – 2016 Paper – Reasoning (Second)
17.
[image: ]
KS1 – 2016 Paper – Reasoning (Second)
18.
[image: ]
19.
[image: ]
20.
[image: ]
KS1 – 2017 Paper – Reasoning
21.
[image: ]
22.
[image: ]
KS1 – 2018 Paper – Reasoning
23.
[image: ]
KS1 – 2019 Paper – Reasoning
24.
[image: ]
25.
[image: ]
KS1 – 2022 Paper – Reasoning
26.
[image: ]
image7.png
% I s





image8.png
8 Tikbyo 1 Accept any other dlear way of indicating
the correct number.

Do not award the mark if extra numbers
are indicated unless it s clear that the
correct number s the childs final choice.
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Do not accept seven counters drawn
unless the answer 7 is also seen.

(Refer to general marking principle 4 on
page 6)
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‘Award TWO marks for the correct answer of
13 (crayons)

I the answer s incorrect or missing, award
ONE mark for evidence of a complete,
correct method, e.g.

* 40-17-10 = (incorrect or no answer)
© 17+ 10=26 (erro)
40-26

2m

(Use the examples of responses given on
pages 18-21 to help you determine how
many marks can be awarded.)
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‘Award TWO marks for the correct answer of
16 (cakes)

If the answer is incorrect or missing, award
ONE mark for evidence of a complete,
comrect method,

* 55-20-19 = (incomect or no answer)

* 20+19=38 (error)
55-38

2m

or

m

(Use the examples of responses given on
pages 22 - 24 to help you determine how
many marks can be awarded.)
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32

Award the mark for any two numbars that are
greater than 20 with a difference of 2, e.g.
«2-22
.« 30-28
4947

im

Both numbers must be greater than 20 for
the award of the mark.

Do ot award the mark f only one
number is greater than 20 and has a
diference of 2, e.g.

. 22-20
Do not award the mark if the numbers are
presented in the wrong order, e.g.

. 22-24=2
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Award TWO marks for the correct answer
of 40 @)

Ifthe answer is incorrect or missing, award
ONE mark for evidence of a complete,
correct method, ..
* 100 - 25 - 35 = (incorrsct or no answer)
2543570 (error)

10070
oR

Any of these partial methods correctly
evaluated, ie.

© 100-25-75

+ 100-35-65
© 25:+35-60
oR

* Sight of 75, 65 or 60

(Refer to general marking principle 6 on
Ppage 6)

(Use the example responses given on
pages 20 and 21 to help you determine
how many marks can be awarded.)
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